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Note: The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e : ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

 Section - A 7 × 2 = 14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1. Give the answer of following questions:

 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE&
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 (i) Explain nature of Macro Economics.

  g‘pîQ> AW©emó H$s àH¥${V H$mo g‘PmB¶o&

	 (ii)	 Define	National	Income.

  amîQ´>r¶ Am¶ H$mo n[a^m{fV H$s{OE&

 (iii) What do you mean by Green Accounting.

  h[aV boIm§H$Z go Amn ³¶m g‘PVo h¢?

	 (iv)	 Define	multiplier.

  JwUH$ H$mo n[a^m{fV H$s{OE&

	 (v)	 Define	aggregate	demand	function.

  g‘J« ‘m§J ’$bZ H$mo n[a^m{fV H$s{OE&

	 (vi)	 Define	trade	cycles.

  ì¶mnma MH«$m| H$mo n[a^m{fV H$s{OE&

 (vii) Explain innovation theory of development.

  Am{W©H$ {dH$mg Ho$ Zdàd©VZ {gÕmÝV H$mo g‘PmB¶o&

 Section - B 4 × 7 = 28
(Short Answer Questions)

Note: Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2) Discuss the importance of Macro Economics.

 g‘pîQ> AW©emó Ho$ ‘hËd H$s {ddoMZm H$s{OE&
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3) Explain Say's Law of Market.

 go Ho$ ~mOma {Z¶‘ H$s ì¶m»¶m H$s{OE&

4) State criticism of classical model of employment.

 amoOJma Ho$ à{VpîR>V ‘m°S>b H$s AmbmoMZmE§ {b{IE&

5) Discuss the consumption function of Keynes.

 Ho$Ýg Ho$ Cn^moJ ’$bZ H$s {ddoMZm H$s{OE&

6) Explain neo - classical theory of interest.

 ã¶mO Ho$ Zd-à{VpîR>V {gÕmÝV H$s ì¶m»¶m H$s{OE&

7) Write a short note on acceleration principle.

 ËdaH$ {gÕmÝV na EH$ g§{jßV {Q>ßnUr {b{IE&

8) Explain the trade cycle theory of Hayek.

 h¡¶H$ H$m ì¶mnma MH«$ {gÕmÝV g‘PmB¶o&

9) Explain in brief classical model of development.

 {dH$mg Ho$ naånamJV ‘m°S>b H$s g§{jßV ì¶m»¶m H$s{OE&
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 Section - C 2 × 14 = 28
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  : {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Explain	 various	 methods	 to	 measure	 National	 Income	 and	

what are the problems in measuring it.

 amîQ´>r¶ Am¶ H$mo ‘mnZo H$s H$m¡Zgr {d{Y¶m± h¡ VWm Bgo ‘mnZo ‘| H$m¡Zgr 
H${R>ZmB¶m± AmVr h¢?

11) Discuss the Kenesian model of income and employment.

 Am¶ Ed§ amoOJma {ZYm©aU Ho$ H$sÝg Ho$ ‘m°S>b H$s ì¶m»¶m H$s{OE&

12) Discuss in brief Samuelson’s model of trade cycle.

 ì¶mnma MH«$m| Ho$ goå¶wAbgZ ‘m°S>b H$s g§jon ‘| ì¶m»¶m H$s{OE&

13) Explain Harrod-Domar model of Economic Development.

 h¡aS>-S>mo‘a Ho$ Am{W©H$ {dH$mg ‘m°S>b H$s ì¶m»¶m H$s{OE&


